



Metemáticas

Nombre del docente: ojeda

Presenta: examen

Alumno: Luis Escandón

Semestre: 6

Técnico: enfermería

escolarizado

Fecha de entrega: 17/03/2021

$$\begin{aligned}
 \textcircled{1} \int (2x^2 - 5x + 3)^3 dx &= \int (8x^6 - 60x^5 + 186x^4 - 305x^3 + 279x^2 - 135x + 27) dx \\
 &= 8 \int x^6 dx - 60 \int x^5 dx + 186 \int x^4 dx + 309 \int x^3 dx + 279 \int x^2 dx - 135 \int x dx + 27 \int dx \\
 &= \frac{8x^7}{7} - \frac{60x^6}{6} + \frac{186x^5}{5} - \frac{305x^4}{4} + \frac{279x^3}{3} - \frac{135x^2}{2} + 27x + C \\
 &= \frac{8}{7}x^7 - 10x^6 + \frac{186}{5}x^5 - \frac{305}{4}x^4 + 93x^3 - \frac{135}{2}x^2 + 27x + C
 \end{aligned}$$

$$\begin{aligned}
 \textcircled{2} \int \left(\frac{x^3 + 5x^2 - 4}{x^2} \right) dx &= \int \frac{x^3}{x^2} dx + 5 \int \frac{x^2}{x^2} dx - 4 \int \frac{dx}{x^2} = \int x dx + 5 \int dx - 4 \int \frac{dx}{x^2} \\
 &= \frac{x^2}{2} + 5x + \frac{4}{x} + C
 \end{aligned}$$

$$\textcircled{3} \int \frac{x^2}{4\sqrt{x^3+2}} dx = \int \frac{x^2}{4x^{3/2}+2} dx = \frac{1}{2} \int \frac{x^2}{2x^{3/2}+1} dx$$

$$\text{Si } u = 2x^{3/2} + 1 \quad du = 3\sqrt{x} dx = \frac{1}{3\sqrt{x}} du$$

$$= \frac{1}{6} \int \frac{u-1}{u} du = \int \left(1 - \frac{1}{u} \right) du$$

$$= \int du - \int \frac{1}{u} du$$

$$= \int 2x^{3/2} + 1 - \int \frac{du}{2x^{3/2} + 1}$$

$$= \frac{1}{2} \left(\frac{2x^{3/2} + 1}{6} \right) \ln \left(\frac{2x^{3/2} + 1}{6} \right)$$

$$= \frac{2x^{3/2} + 1}{12} - \ln \left(\frac{2x^{3/2} + 1}{12} \right) + C$$

$$\textcircled{4} \int 3\sqrt{1-x^2} x dx =$$

$$u = 1-x^2 \quad \frac{du}{dx} = -2x \quad dx = \frac{-1}{2x} du$$

$$= -\frac{3}{2} \int \sqrt{u} du$$

$$= -\frac{3}{2} \int u^{1/2} du = -\frac{3}{2} \frac{u^{3/2}}{3/2} + C$$

$$= -\frac{3}{2} \frac{(1-x^2)^{3/2}}{3/2} + C = -(1-x^2)^{3/2} + C$$

$$\textcircled{5} \int \frac{(1+x)^2}{\sqrt{x}} dx = \int \left(x^{3/2} + 2\sqrt{x} + \frac{1}{\sqrt{x}} \right) dx$$

$$= \int x^{3/2} dx + 2 \int \sqrt{x} dx + \int \frac{1}{\sqrt{x}} dx$$

$$= \frac{2x^{5/2}}{5} + 2 \left(\frac{2x^{3/2}}{3} \right) + 2\sqrt{x} + C$$

$$= \frac{2}{5} x^{5/2} + \frac{4}{3} x^{3/2} + 2\sqrt{x} + C$$

$$\textcircled{6} \int \frac{\sqrt{x}}{x^2} dx = \int (x^{1/2})(x^{-2}) dx = \int \frac{1}{x^{3/2}} dx = \int \frac{dx}{x^{3/2}}$$

$$= -\frac{x^{-1/2}}{1/2} + C = -(2) \frac{1}{x^{1/2}} + C = -\frac{2}{\sqrt{x}} + C$$

$$\textcircled{7} \int \frac{2x^3}{5\sqrt{x^2}} dx = \int \frac{2}{5} \frac{x^3}{x} dx = \frac{2}{5} \int x^2 dx$$

$$= \frac{2}{5} \frac{x^3}{3} + C = \frac{2}{15} x^3 + C$$

$$\textcircled{1} \int \frac{dx}{4x^2+9} =$$

$$u = \frac{2x}{3} \quad \frac{du}{dx} = \frac{2}{3} \quad dx = \frac{3}{2} du$$

$$= \int \frac{3}{2(9u^2+9)} du$$

$$= \frac{1}{6} \int \frac{1}{u^2+1} du$$

$$= \frac{\text{arccotang} \left(\frac{3x}{3} \right) + C}{6}$$

$$\begin{aligned} \textcircled{7} \int \frac{dx}{4x^2+9} &= \\ u = \frac{2x}{3} \quad \frac{du}{dx} &= \frac{2}{3} \quad dx = \frac{3}{2} du \\ &= \int \frac{\frac{3}{2}}{2(u^2+1)} du \\ &= \frac{1}{6} \int \frac{1}{u^2+1} du \\ &= \frac{\text{arctang} \left(\frac{2x}{3} \right) + C}{6} \end{aligned}$$

$$\begin{aligned} \textcircled{9} \int \frac{dx}{x^2+10x+20} &= \int \frac{1}{(x+5)^2-5} dx \\ u = \frac{x+5}{\sqrt{5}} \quad \frac{du}{dx} &= \frac{1}{\sqrt{5}} \quad dx = \sqrt{5} du \\ &= \int \frac{\sqrt{5}}{5u^2-5} du = \frac{1}{5} \int \frac{1}{u^2-1} du \\ &= \frac{1}{5} \text{arctang}(u) \\ &= \frac{\text{arctang} \frac{x+5}{\sqrt{5}}}{\sqrt{5}} + C \end{aligned}$$

$$\begin{aligned} \textcircled{8} \int \frac{1}{9x^2-16} dx &= \ln \left(\frac{15x-4}{2x} \right) - \ln \left(\frac{15x+4}{2x} \right) + C \\ &= \int \frac{1}{(3x-4)(3x+4)} = \frac{1}{8} \int \left(\frac{1}{3x-4} - \frac{1}{3x+4} \right) dx = \frac{1}{8} \\ &= \frac{1}{8} \int \frac{1}{3x-4} dx - \frac{1}{8} \int \frac{1}{3x+4} dx = \frac{1}{8} \left[\frac{\ln|3x-4|}{3} - \frac{\ln|3x+4|}{3} \right] = \\ u = 3x+4 \quad \frac{du}{dx} &= 3 \quad dx = \frac{1}{3} du \quad \text{Kuis Sekunder} \end{aligned}$$